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vEIR 104 £12 * 31 p Hi= 374 %A
FA2FAMD & i F#EZ B AR & a3
111000-5 FEUYLE AZK 52,495 121300-5 FEANEHERK 52,495
111010-9 FEWLE AGK—ARLERE 64,500 122000-7 FEET4MESL 465,000
112100-5 B A s 465,000 123000-2 R AFULHL 1,143,290
113000-6 5% A4HEEL 1,078,790
= g 1,660,785 =1 i 1,660,785
Bt
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vERR 104 #11 % 30 P B 3540
FEFASE & i FAEZ AR £ ¥
AEE 52,495
111000-5 FEWTE AZK 52,495 121300-5 FE4NEEZK o
=14 ,
112000-0 B ATFEEEL 17,000 122000-7 ?Eﬁfﬁﬁ%{ e
112100-5 B ASTHCEL 448,000 123000-2 R AFULHL ,
113000-6 5% A4HEEL 853,301
= g 1,370,796 =1 i 1,370,796
Bt
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FrEFAPE & (i PHEZ E AR £ i
2R 2K 52,495
111000-5 FEWTE AZK 52,495 121300-5 FE4NEEZK o
=L ,
112000-0 B ATFEEEL 334,000 122000-7 ?Eﬁrfﬁiﬁ%{ B
112100-5 BRASHCEL 131,000 123000-2 R AFULHL ,
113000-6 5% A4HEEL 534,983
= g 1,052,478 =1 i 1,052,478
B
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FrEFAPE & (i PHEZ E AR £ i
2R 2K 52,495
111000-5 FEWTE AZK 52,495 121300-5 FE4NEEZK o
=L ,
112000-0 B ATFEEEL 348,000 122000-7 ?Eﬁrfﬁiﬁ%{ e
112100-5 BRASHCEL 117,000 123000-2 R AFULHL ,
113000-6 5% A4HEEL 503,194
= g 1,020,689 =1 i 1,020,689
B
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vERRKR 104 #08 2 31 P B 3540
FEFASE & i FAEZ AR £ ¥
A 52,495
111000-5 FEULEAZK 52,495 121300-5 FEANEZL o
=14 ,
112000-0 A THE L 361,000 122000-7 ?Eﬁrfﬁiﬁ%{ o
112100-5 BRASHCEL 104,000 123000-2 R AFULHL ,
113000-6 5% A4HEEL 453,494
= g 970,989 & i 970,989
BifsE -
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vERR 104 #07 % 31 P B 3540
FEFASE & i FAEZ AR £ ¥
A 52,495
111000-5 FEWTE AZK 52,495 121300-5 FE4NEEZK o
=L ,
112000-0 B ATFEEEL 374,000 122000-7 ?Eﬁrfﬁiﬁ%{ o
112100-5 BRASHCEL 91,000 123000-2 R AFULHL ,
113000-6 5% A4HEEL 345,587
= g 863,082 & i 863,082
B
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vERRKR 104 206 2 30 p B 3540
FEFASE & i FAEZ AR £ ¥
A 55,495
111000-5 FEWTE AZK 55,495 121300-5 FE4NEEZK o
=L ,
112000-0 B ATFEEEL 387,000 122000-7 ?Eﬁrfﬁiﬁ%{ o
112100-5 BRASHCEL 78,000 123000-2 R AFULHL ,
113000-6 5% A4HEEL 304,874
= g 825,369 & i 825,369
B
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vERR 104 #0502 31 P B 3540
FEFASE & i FAEZ AR £ ¥
A 55,495
111000-5 FEWTE AZK 55,495 121300-5 FE4NEEZK o
=L ,
112000-0 B ATFEEEL 400,000 122000-7 ?Eﬁrfﬁiﬁ%{ e
112100-5 BEASTECEL 65,000 123000-2 R AFULHL .
113000-6 5% A4HEEL 267,593
= g 788,088 & i 788,088
B
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vERR 104 #04 % 30 p B 3540
FEFASE & i FAEZ AR £ ¥
A 55,495
111000-5 FEWTE AZK 55,495 121300-5 FE4NEEZK o
=L ,
112000-0 B ATFEEEL 413,000 122000-7 ?Eﬁrfﬁiﬁ%{ o
112100-5 BRASHCEL 52,000 123000-2 R AFULHL ,
113000-6 5% A4HEEL 252,019
= g 772,514 & i 772,514
B
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vERR 104 #03 % 31 P B 3540
FEFASE & i FAEZ AR £ ¥
A 55,495
111000-5 FEWTE AZK 55,495 121300-5 FE4NEEZK o
=L ,
112000-0 B ATFEEEL 426,000 122000-7 ?Eﬁrfﬁiﬁ%{ o
112100-5 BEASTECEL 39,000 123000-2 R AFULHL .
113000-6 5% A4HEEL 234,224
= g 754,719 & i 754,719
B
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vEIR 104 £02 * 28 p Hi= 374 %A
FA2FAMR & i F#EZ B AR & a3
111000-5 FEWTE AZK 57,000 121300-5 FE4NEEZK 57,000
112000-0 A THES] 465,000 122000-7 FEET4MESL 465,000
113000-6 5& A4NESL 177,459 123000-2 R AFULHL 177,459
= g 699,459 & i 699,459
B
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111000-5 FEWTE AFK 57,000 121300-5 FEAPEHK 57000
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